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① ㅿG= - V. △Gv t

A.rs
Mental nucleus ; V = J파3 / A = 4파2

⇒ △G= - ftp.OGvt 4파2.8

V二幷" .nu ⇒ r (En )
"L8대인

II) Atomic Volume
# of Atoms in Chester

∴ △G. - nv.co氏十 4지파3NMr
= - nv.coGv + (36+1)"3 n.TT?n

②
(A) △G-n.roGv t (36T )

''3MGBP

(b) (許卜以 = -v0Gr t (36T)
"?Tri? v27 r = o

∴昨爽 (戒 )
'

s ,
∴ △ = - Mr.△Gv t (3에門代珩 녀처

= 一刪 .

(Pi (4×322)쓔 . PC쇼)2
=幷然

(C)
△Ggr = - n - CGV - 0G,r ) t (3에 吟坮합.
△ Gdiu = -n . (인가 - 인긴m ) t (3네) '" n" na

Same StanMY ; △Ggr = △

Gdianoadw-OGg.lt
(3에Pi"(EPA- ois . ) =

oi.inMfjiaiaif 23.17m2

Var = 8 A3/Atom
na= 6A3/Atom{
인해-0Euro.sev1atom

∴ ① Para= 3.6 J1m2 → 7=465

② Aw= 3
.

65 J1m2 → n = 145

③ Para= 3.7 J1m2 → n = 21



(d) demund is More State than Group제다

⇒ △Gala < △Ggr

2/3

∴ n <
36기(Vs. 업. - EII에-3
(0Gdu- 0GGr )

3

8X1530m3/Atom
as 3.17m2

琰地(e) n卄二 tawo (from 2- (b) )

= 100 L
∴△Gugr = 1.08 X1010J1m3

(during Force for Gimme nucleus )

T Aexp (-아사서)(f)
→m苽 = .tt/AexpfoGEan) =

expflaiGJ-dtaieyktpgpdicii.TT
(Es

= 43x10정J

△G※ =F .毬힚. =
① The= 3.6J1m2 → △GE - 4.10 #ET

1 ③ Th= 3.655m3 → △GE= 4.28 X10'

③ Tha= 3.77m2 → △GE= 4.46×10"5

E 300k

① 3.42×1521

i-eexpfidwt_e-J.SIId가 414NE21J ③ 5.29×153

③ 2.61×1016

(g) In Case ofbulu.damondismoreunstablethangwplnte.However.it
The size of patkebe.comes Very Small ( line Man scale)

,

We have to onSide The Surface because Theeffect of Surface Energy

is inCraig From (e).

weunowtnatnuaeatimruteisgreatyinfluenced.bysurface Energy Therefor, as The Surface Energy ofdiamondincreasesnuclentionruteofdiamond.decause.



(h ) CH4→ C+ 2H2 isde.composition

So
, as CH4 is deComposed, Concertration of C incause .

From above
, △GV.gr > △Guido

However.it The Concert ration Of C inCross and The Candy effect

is not Applied , The above eqn.hnunotbeestablished.There.tn,

The above en.is definedinnanomete.rs to which tre EMKey

effect is Applied.


